





























$$\frac{dn(t)}{dt} = g_{\text{thermal}} - \alpha_r n(t) p(t) = \alpha_r \left[n_i^2 - n(t) p(t) \right]$$

Low-level injection, p-type: $n_0 \ll \delta n \ll p_0$

$$\delta n(t) = \delta n(0) e^{-\alpha_r p_0 t} = \delta n(0) e^{-t/\tau_{n_0}}$$

$$\tau_{n0} = \frac{1}{\alpha_r p_0}$$
$$R_n = R_p = \frac{\delta n(t)}{\tau_{n0}}$$





Recombination via states in the gap

$$R_n = R_p = \frac{C_n C_p N_t (np - n_i^2)}{C_n (n + n') + C_p (p + p')} = R$$

$$n' = N_C \exp\left[\frac{-(E_C - E_t)}{kT}\right]$$

$$p' = N_V \exp\left[\frac{-(E_t - E_C)}{kT}\right]$$





Ambipolar transport equation
$$D_p \frac{\partial^2(\delta p)}{\partial x^2} - \mu_p E \frac{\partial(\delta p)}{\delta x} + g_p - \frac{p}{\tau_{pt}} = \frac{\partial(\delta p)}{\partial t}$$
 $D_n \frac{\partial^2(\delta n)}{\partial x^2} + \mu_n E \frac{\partial(\delta n)}{\delta x} + g_n - \frac{n}{\tau_{nt}} = \frac{\partial(\delta n)}{\partial t}$ Important: the charge-carrier transport is determined by the minority charge carriers!!! Under the condition of low-level injection.















$$\begin{aligned} \textbf{Calculation } V_{bi} \\ n\text{-side: } n_0 &= n_i \exp[(E_F - E_{Fi})/kT] = n_i \exp[-e\phi_{Fn}/kT] \approx N_d \\ p\text{-side: } p_0 &= n_i \exp[(E_{Fi} - E_F)/kT] = n_i \exp[-e\phi_{Fp}/kT] \approx N_a \\ \text{Then the potentials } \phi_{Fn} \text{ and } \phi_{Fp} \text{ become: } \phi_{Fn} &= \frac{kT}{e} \ln\left(\frac{N_d}{n_i}\right) \\ \phi_{Fp} &= \frac{kT}{e} \ln\left(\frac{N_a}{n_i}\right) \\ \text{...and we find for the built-in potential difference:} \\ V_{bi} &= \phi_{Fn} + \phi_{Fp} = \frac{kT}{e} \ln\left(\frac{N_a N_d}{n_i^2}\right) = \frac{e}{2\varepsilon_s} \left(N_d x_n^2 + N_a x_p^2\right) \end{aligned}$$



Calculation depletion width

Depletion width follow from charge neutrality: $N_d x_p = N_d x_n$

..... and from:
$$W = x_n + x_p$$

Then we obtain:
$$W = \left\{ \frac{2\varepsilon_s V_{bi}}{e} \left[\frac{N_a + N_d}{N_a N_d} \right] \right\}^{1/2}$$







$$x_{n} = \sqrt{\frac{2\varepsilon_{s}(V_{bi} + V_{R})}{e}} \left[\frac{N_{a}}{N_{d}} \right] \left[\frac{1}{N_{a} + N_{d}} \right]; \qquad C' = \frac{dQ'}{dV_{R}} = eN_{d} \frac{dx_{n}}{dV_{R}}$$
$$\bigcup$$
$$C' = \sqrt{\frac{e\varepsilon_{s}N_{a}N_{d}}{2(V_{bi} + V_{R})(N_{a} + N_{d})}}; \qquad C' = \frac{\varepsilon_{s}}{W}$$











Apply ambipolar transport equation:

$$D_{p} \frac{\partial^{2}(\delta p_{n})}{\partial x^{2}} - \mu_{p} E \frac{\partial(\delta p_{n})}{\partial x} + g' - \frac{\delta p_{n}}{\tau_{p0}} = \frac{\partial(\delta p_{n})}{\partial t}$$

$$\Rightarrow \frac{d^{2}(\delta p_{n})}{dx^{2}} - \frac{\delta p_{n}}{L_{p}^{2}} = 0 \quad (x > x_{n})$$
Solve differential equation (try exponential function: $Ae^{-x/L} + Be^{x/L}$)
And apply the correct boundary conditions: $\delta p_{n}(x \to \infty) = 0$
 $\delta p_{n}(x) = p_{n}(x) - p_{n0} = p_{n0} \left[\exp\left(\frac{eV_{a}}{kT}\right) - 1 \right] \exp\left(\frac{x_{n} - x}{L_{p}}\right)$
 $\delta n_{p}(x) = n_{p}(x) - n_{p0} = n_{p0} \left[\exp\left(\frac{eV_{a}}{kT}\right) - 1 \right] \exp\left(\frac{x_{p} + x}{L_{n}}\right)$



The current density through the junction

$$J_{n}(x_{p}) = eD_{n} \frac{dn}{dx}\Big|_{x=x_{p}} = eD_{n} \frac{d(\delta n(x))}{dx}\Big|_{x=x_{p}} = \frac{eD_{n}n_{p0}}{L_{p}} \left[\exp\left(\frac{eV_{a}}{kT}\right) - 1 \right]$$

$$J_{p}(x_{n}) = -eD_{p} \frac{dp}{dx}\Big|_{x=x_{n}} = -eD_{p} \frac{d(\delta p(x))}{dx}\Big|_{x=x_{n}} = \frac{eD_{p}p_{n0}}{L_{n}} \left[\exp\left(\frac{eV_{a}}{kT}\right) - 1 \right]$$
The total current is the addition of the electron and hole
currents and is determined by the minority properties!!!

$$J = J_{p}(x_{n}) + J_{n}(x_{p}) = \left[\frac{eD_{p}p_{n0}}{L_{p}} + \frac{eD_{n}n_{p0}}{L_{n}} \right] \left[\exp\left(\frac{eV_{a}}{kT}\right) - 1 \right]$$











Generation-recombination current

Assumptions:

- 1. In the whole depletion region n = p = 0
- 2. Further: $\tau_0 = (\tau_{n0} + \tau_{p0})/2$, and use: $1/N_t C_{p,n} = t_{p0,n0}$
- 3. Trap energy level E_t in the middle of the gap $\rightarrow n' = p' = n_i$

So:
$$R = \frac{C_n C_p N_i (np - n_i^2)}{C_n (n + n') + C_p (p + p')} = \frac{-n_i}{2\tau_0} \equiv -G$$

The generation current is all the current generated in the depletion region, thus:

$$J_{\text{gen}} = \int_{0}^{W} eGdx = \frac{en_{i}W}{2\tau_{0}} \Longrightarrow J_{\text{reverse}} = J_{s} + J_{\text{gen}}$$

Note that J_{reverse} is dependent on V_a because W and thus J_{gen} is dependent on V_a !!!





























































Current components of the transistor and current gain factor

$$J_{C} = J_{nC} + J_{G} + J_{pC0}$$
$$J_{E} = J_{nE} + J_{R} + J_{pE}$$
$$J_{B} = -J_{E} - J_{C}$$

The dc common base current gain factor is defined as: $\alpha_0 = \frac{I_C}{I_E}$

If we assume that the emitter-base area is equal to the base-collector area, we obtain:

$$\alpha_{0} = \frac{J_{C}}{J_{E}} = \frac{J_{nC} + J_{G} + J_{pC0}}{J_{nE} + J_{R} + J_{pE}}$$

Small-signal common base current gain

We are interested in the collector current-change as a function of the emitter-current change:

$$\alpha = \frac{\partial J_C}{\partial J_E}\Big|_{V_{BC}} = \frac{J_{nC}}{J_{nE} + J_R + J_{pE}}$$
$$= \left[\left(\frac{J_{nE}}{J_{nE} + J_{pE}}\right)\left(\frac{J_{nC}}{J_{nE}}\right)\left(\frac{J_{nE} + J_{PE}}{J_{nE} + J_R + J_{pE}}\right)\right]$$
$$\frac{\gamma}{\alpha_T} \frac{\alpha_T}{\delta}$$

$$\alpha = \left(\frac{J_{nE}}{J_{nE} + J_{pE}}\right) \left(\frac{J_{nC}}{J_{nE}}\right) \left(\frac{J_{nE} + J_{pE}}{J_{nE} + J_{R} + J_{pE}}\right)$$
$$\frac{\gamma}{\alpha_{T}} \frac{\alpha_{T}}{\delta}$$

- Emitter efficiency injection factor, γ. ratio electron diffusion current / total diffusion current
- Base transport factor, $\alpha_{\vec{T}}$ determines the efficiency of charge transport across the base, in other words is a measure for the recombination losses in the base
- Recombination factor, δ : measure for the quality of the emitterbase junction and gives an indication about the recombination











$$E \qquad B \qquad C$$

$$W_B \rightarrow V_{B} \rightarrow V_{B}$$

$$x_{dB} = W_B = \left\{ \frac{2\varepsilon_s (V_{bi} + V_{pl})}{e} \cdot \frac{N_C}{N_B} \cdot \frac{1}{N_C + N_B} \right\}^{1/2}$$

$$V_{pl} = \frac{eW_B^2}{2\varepsilon_s} \cdot \frac{N_B (N_C + N_B)}{N_C}$$



– Current across the base is now represented by a current source with value $\alpha_R I_R$



Ebers-Moll equations
The Ebers-Moll equations follow from the equivalent circuit:
$$I_{C} = \alpha_{F}I_{ES} \left[\exp\left(\frac{eV_{BE}}{kT}\right) - 1 \right] - I_{CS} \left[\exp\left(\frac{eV_{BC}}{kT}\right) - 1 \right]$$
$$I_{E} = \alpha_{R}I_{CS} \left[\exp\left(\frac{eV_{BC}}{kT}\right) - 1 \right] - I_{ES} \left[\exp\left(\frac{eV_{BE}}{kT}\right) - 1 \right]$$
With I_{ES} and I_{CS} the reverse-bias currents of the emitter-base and the base-collector junction, respectively











Time required to cross the depletion region between the base and the collector:

$$\tau_d = \frac{x_{dc}}{v_s}$$
 Collector depletion region transit time

with: x_{dc} the base-collector depletion-region width and v_s the saturation velocity at high electric fields

Charging time, τ_{c} , of the base-collector junction capacitance:

$$\tau_c = r_c (C_{\mu} + C_s) \leftarrow$$
 Collector capacitance
Charging time

with: C_{μ} the base-collector junction capacitance and $C_{\rm s}$ the collector-base capacitance



Definition cut-off frequency	
$f_{\alpha} \equiv \alpha \rightarrow \frac{\alpha_{0}}{\sqrt{2}}$ $f_{\beta} \equiv \beta \rightarrow \frac{\beta_{0}}{\sqrt{2}}$ $f_{T} \equiv \beta \rightarrow 1$	$\alpha = \frac{\alpha_0}{1 + j \frac{f}{f_\alpha}}$ $f_\alpha = \frac{1}{2\pi\tau_{ec}}$ $\beta = \frac{\alpha}{1 - \alpha} = \frac{\alpha_0}{1 - \alpha_0 + j \frac{f}{f_\alpha}}$ $ \beta = \left \frac{\alpha}{1 - \alpha}\right \approx \frac{f_\alpha}{f}$ Definition f_T : $ \beta = 1$ if $f = f_T$
	$IIIUS: J_T = J_\alpha = \frac{1}{2\pi\tau_{ec}} = \rho_0 J_\beta$











$$\begin{aligned} &J = J_{sT} \left[\exp\left(\frac{eV_a}{kT}\right) - 1 \right] \\ &J_{sT} = A^*T^2 \exp\left(-\frac{e\phi_{Bn}}{kT}\right), \quad \text{with} : A^* = \frac{4\pi m_n^* k^2}{h^3} \end{aligned}$$
Compare with p-n diode, in which:

$$\begin{aligned} &J_s = \frac{eD_n n_{p0}}{L_n} + \frac{eD_p p_{n0}}{L_p} \end{aligned}$$



